New Maths GCSE: N6 - Estimating Powers and Roots
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Without using a calculator,

V30 is between:

15 and 16
3and 4

5and6

14 and 15

>

B B =

Without using a calculator,

V70 is between:

8and9
7 and 8

35 and 36

6and7
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Without using a calculator,

V200 is between:

14 and 15
99 and 100

50 and 51

13 and 14
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
Which comparison is true? Explanation:

A. 4<m<45 ..........................................................................
B as<viBes [ o
C. 85<+V18<95

D. 17<V18<19

Correct Answer: ABCD

é Explanation:

Which point on the number line is the best approximation for V67
A, pointw B sasesaararsssaaarrssssanrasssaanasssaanartasanEETE s aE e n
B. point X
C. pointY e R
D. pointZ

Correct Answer: ABCD

Explanation:

: : Correct Answer: ABCD
Without using a calculator,

4.5%is between: Explanation:
25 and 36 et
B 8and9 | .
and 25 | e
Bl 9and10 | s
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Correct Answer: ABCD

Without using a calculator,

10.8%is between: Explanation:
20 and 21 B
Fl 100and 121 | s
e I
Bl 50and 51 | s
Without using a calculator, Correct Answer: A B C D
27 and 64 e
Bl 2and6
T I e
B 8and27 | s

/30 Correct Answer: ABCD
What is v207?

10
B 4sish
N R

Explanation:

you can’t do it
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